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If y is a function of x such that y'>0 for all xand y" <0 for all x, which of the following could
be part of the graph of y = f(x)?
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4.1.3 [P] A boat is drawn close to a dock by pulling in the rope at a constant rate.
or False. The closer the boat gets to the dock, the faster it is moving.
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43.3[Q] Tq.\:?& — 0, then f has an inflection point at a.
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17. The graph of a twice-differentiable function f is shown in the figure above. Which of the

following is true?

(A f()<f(1)<r()
B) r()<f(1)=<s()
© f<fM<s(1)
:
(1)

%x : <F)< £

Amv < f<ri

# 17 is from 1998 AP Calc AB
http://staff.4j.lane.edu/
~windom/AP/ap%20multiple

%20choice.pdf

True/False

18.) If fis continuous, then f is differentiable.

19.) If fis differentiable, then fis continuous. @
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If y = f(t) represents the miles a car travels after ¢ hours,
abmw F 3 is the velocity of that car.
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2.2.3 [P] You’re trying to guess lim f(x). You plug inx = 0.1,0.01, 0.001, .... and get f{x) =0 for

x -4

all these values. In fact, you're told that for all n = 1,2,. .., we have f(1), .\TI_U 414
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True or False: Since the sequence 0.1, 0.01, 0.001, . . . goes to 0, we know lim f(x) — 0
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7. The graph of a function f (z) is shown below. At which of the following points is the

value of the derivative f'(z) biggest?
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8. Consider again the function f(z) whose graph is shown in problem 7. At which points
18 the second derivative f”(r) negative?
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Match the slope fields with their differential equations.
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From the May 2008 AP Calculus Course Description:
15 From: http://
apcentral.collegeboard.com
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The slope field from a certain differential equation is shown above. Which of the qu‘:ogsm could be
a specific solution to that differential equation?

) e (B) y=¢* ©) y=e* (D) y=cosx (E) y=lx



Match the slope fields with their differential equations.

Gy B) ||
T T e T S o B [ TR R e e
WL el 2 R TR B UGN ot
Sl e liid BRI
e EEES D SRR R
el S s AT ASCR e T
LE W i-ihas ars gy TR A T
© D) >
F R T T TR T R R e T SR O I T ey e R T L
e AN el b Vel R R
T Bt Lol o Al ek
B R e T N R S s L R DO F O
Sk b e s R ORRE R RN I VA N ramae b ]
P R R el e . T A0 T e T e
d d d x d
e sdmy s B e e f3 e i i
dx dx dx y dx

:znn\\m_uom::m_.oo__m@mcoma.oo_j\mno\vcU__o:mUOmon\\mUomlom_oc_cmim_oummm_amléo%m:mmﬁ.U&




7. Which of the following could be a solution of
the differential equation with the given slope
field?
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